) €M)

ooa

1072 gt g g g

a(d o) (rad)

1O‘%illllilllli

..........................................................................

a0 d ) (cm)

.1‘0%iIIllillllillllillllillllﬁ

=

%%%%##%## "

-3 -2

0 1 2 3

-ne
ew_step2_tthar-phasel-newgeom
_S?QE _} a|}2 Easei-nevggeom
s{e ar-ppasel-newgeom

—ttba eom

mline)

r
r-pnasel-new

..........................................................................

:m:—rw
Ll
E
%

3 -2 -1 0 1 2 3
TP ® (PCA to beamline)

o©p_/p)

........................................................................

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


